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Q15a) No, I do not as in the cell sample, there are chloroplasts which need light 
to make food. 

Q15b) The cell membrane. It only allows some substances to pass through, just 
like the gate arm, which only allows those cars with season tickets to pass 
through while cars without the season tickets are not able to get through. 

Q16a) Cindy did not draw the arrows correctly. The arrows should start in the 
leaves because food is produced in the leaves and transported to the rest 
of the plant. 

Q16b) It can absorb more water and mineral salts. 
--------- - -

Q 16c) The tiny openings allows for gaseous exchange of the plant with its 
surroundings. 

Q17a) As the heart rate increases, the breathing rate increases. 

Q17b) Air enters through Johan's nose and into the windpipe before reaching the I 
lungs. In the lungs, oxygen enters Johan's blood stream through air sacs 
in the lungs. Blood in the circulatory system carries oxygen-rich blood to 
all parts of Johan's body, including his legs. 
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Q17c) Carbon dioxide 
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After Amir blew into the straw, air from his lungs was transferred into the 
bottle. Air has volume and occupies space in the bottle, so water in the 

........... -• 

bottle will be displaced out into the basin, increasing the height of water in 
the basin. 

Tick all 

Larger 

The warmer water vapour from the surrounding air came into contact with 
the cooler surface of the ice cream container, causing the water vapour to 
lose heat and condense into water droplets. As the temperature difference 
between water droplets formed and container is still very significant, water 
droplets will continue to lose heat and freeze to form layer of white solid 
ice. 

The white solid gained heat from the surrounding air and melted. 
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